Correct at 24/06/2018
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Allen Steve 0 0
Logan Stuart 2 |26 2 |26 3 613]3 9
Schools John 4 |23 3112 4 5122|1175
Joyce Martin 1]23 1]26 5123 6
Shwartz Stuart 4 114 51213 6
Smith Matthew 3|23 3|26 51213 6
Wyatt Gary 3|26 4 | 26 31211 6
Brinsmead Keith 3114 2 |12 51111311145
Di Pietro Emilio 114 1|12 4 11|21 11]45
Fairs John 1|19 5111 4 3
Meechan Derek 2123 11|17 5111 4 3
Messer Alan 2|19 5111 4 3
Barclay Roy 1|26 311 2 3
Burrows Wally 1 21111 3
Fairs David 2 | 26 21111 3
Hood Ted 2 111 3
Thorpe Peter 2114 1|1 3
Eager Nick - 3 3 0
Bancroft Ray 1 1 0
Peters Joe 1 1 0




Roberts Gus

Spier Mal

Correct at 24/06/2018



